
Inverse Laplace Transform

Definition : If L [f(t)] = f(s) then L-1(f(s)) = f(t)

Standard results
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n is +ve integer
Inverse Shifting theorem

If L-1(f(s)) = f(t) then L-1[
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(s – a)] = eat L-1[
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(s)] 

                                                        = eat f(t)

Also, L-1 (
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(s + a)) = e-at [
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(s)] = e-at f(t)
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Partial Fraction :
(1) 
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Type – III

Convolution thm :
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INVERSE LAPLACE TRANSFORMS
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